

$$y = \frac{ax^2 + bx + c}{dx + e}$$

asintoti:  $x = 2$

$$y = -x - 1$$

1/2

in  $x = 1$  la tangente ha  $m = 2$

$$\textcircled{1} \lim_{x \rightarrow 2} f(x) = \infty$$

$$\lim_{x \rightarrow 2} \frac{ax^2 + bx + c}{dx + e} = \infty$$

$$*^1 \quad 2d + e = 0$$

$$*^2 \quad \lim_{x \rightarrow \infty} \frac{ax^2 + bx + c}{x(dx + e)} \Rightarrow \frac{a}{d} = -1$$

$$\textcircled{2} \lim_{x \rightarrow \infty} f(x) = \infty$$

$$*^2 \quad \lim_{x \rightarrow \infty} \frac{f(x)}{x} = -1$$

$$*^3 \quad \lim_{x \rightarrow \infty} (f(x) - m(x)) = -1$$

$$*^3 \quad \lim_{x \rightarrow \infty} \frac{ax^2 + bx + c + dx^2 + ex}{(dx + e)} = -1$$

$$\lim_{x \rightarrow \infty} \frac{x^2(a+d) + x(b+e) + c}{(dx + e)} = -1$$

$$*^3 \quad a + d = 0$$

$$*^4 \quad \frac{b+e}{d} = -1$$

$$*^5 \quad f'(1) = 2$$

$$\frac{(2ax + b)(dx + e) - (ax^2 + bx + c)(d)}{(dx + e)^2} =$$

$$\frac{2ad + 2ae + b/d + be - ad - b/d - cd}{(d+e)^2} = 2$$

$$\frac{a(d+2e) + be - cd}{(d+e)^2} = 2$$

$$a + d = 0 \Rightarrow a = -d$$

$$2d + e = 0 \Rightarrow e = -2d$$

$$\frac{a}{d} = -1 \Rightarrow -1 = -1 \quad \text{con } d \neq 0$$

$$\frac{b+e}{d} = -1 \Rightarrow \frac{b-2d}{d} = -1 \Rightarrow b = -d + 2d \Rightarrow b = d$$

$$\frac{a(d+2e) + be - cd}{(d+e)^2} = 2 \Rightarrow \frac{-d[d + (-4d)] + (-2d^2) - cd}{d^2} = 2$$

2/2

$$a + d = 0 \Rightarrow a = -d$$

$$2d + e = 0 \Rightarrow e = -2d$$

$$\frac{a}{d} = -1 \Rightarrow -1 = -1 \text{ con } d \neq 0$$

$$\frac{b+e}{d} = -1 \Rightarrow \frac{b-2d}{d} = -1 \Rightarrow b = -d + 2d \Rightarrow b = d$$

$$\frac{2(d+2e) + be - cd}{(d+e)^2} = 2 \Rightarrow \frac{-d[d + (-4d)] + (-2d^2) - cd}{d^2} = 2$$

$$e = -2d$$

$$d = -d$$

$$0 = 0 \text{ con } d \neq 0$$

$$b = d$$

$$-d^2 + d^2 - 2d^2 - cd = 2d^2 \Rightarrow -d(c+d) \Rightarrow d = -c$$

$$y = \frac{-dx^2 + dx - d}{dx - 2d}$$

$$y = \frac{d}{d} \left( \frac{-x^2 + x - 1}{x - 2} \right) \Rightarrow$$

$$y = \frac{-x^2 + x - 1}{x - 2}$$